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1. fergreftar &1 =1 7Tk @

(A) T H! (B diee ot
(C) Alee |t (D) S ot
1. The unit of electric field is

(A) Newtonm™  {B)Voltm”

(C) Volt m™ (D) Witch cm™

2. o HTie, TSI Seeh <hl efIiat C #, A0MishH § g 81 ITeh! e HMidl 8-
(A).3C (B) 3/C

()C/3 (D) 1/3C

2. Three capacitors, each with a capacitance of C, are connected in a series order.
Their equivalent capacitance is:-

(A) 3C (B) 3/C

(CyC/3 (D) 1/3C

3. 3 o, 3P HeTor T S S

3. In the glven ﬁgure the charge on the 3|JF capac1t0r will be —

B )

Ir
A0V
(A) 5 UC | B) 10 uc
(C) 3uC (D) 6 UC
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4. 9f¢ 10 UTSSHI-BTS (LLF) STRET STl Hemiet &l 5 diee (V) o AR fomam s, ar
39 T AT BT

(A) 50 C (B)5x10°C

(CP5x10°C (D) 2C

4. If a capacitor with a capacity of 10 microifarad (MF) is chargedo 5 volts (V),
the charge on it will be:

(A) 50 C (B)5x10°C

@5x10°C (D) 2C

5. B fseL @ g ST & —
(A) 3= e (B) f=1 afcdie
(Cr 3= qur fe ufade (D) favraiax

5. Heatstone Bridge is measured by —

(A) High resistance (B) Low resistance
(C) High and low resistance (D) Voltage

6. 1 € Iy ATt Teh THEY AR shl = S THST H HIEH I GHIAGHA H SI1S faam
ST T E=IAT ohT Tqed TfeRie e

(A) 4 Q B) 12
©)1/4Q (P71 /16 €2
6. A homogenous wire with resistance 1 Q) is cut into four equal pieces and joined

in parallel to the equivalent resistance of the coincidence
A) 4 Q B)1Q
(©)1/14Q D)1/116Q
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7. TFTHIT &1 o T i S.1. 3TS ardl @

(A) T (B) &

(€T (D) S[A-HHTS

7. The Si unit of flux of a magnetic field is
(A) Tesla (B) Henry

(C). Weber (D) Joule-second

8. Terell el Tel erraITell T § galried fored- ey o e, Jfe ar’ 9] Ocm 36 & o
3 G & 2mT 812

(A) 500 A (B) 1000A

(C)250 A (D) 2000 A

8. What will be the current flowing through a long, straight conducting wire if the

magnetic field generated at.a distanee-of 10 cm from the wire is 2mT?
(A) 500 A (B) 1000A
(C) 250 A (D) 2000 A

9. $TH ¥ I STTIFIh TaTe &

() 34 (B) 54

(€)™ (D) I &t

9. Which of the following is a paramagnetic material?
(A9 Solids (B) Liquids

(C) Gas (D) All the above
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10. TR T S.1. T &

(A) S (Wh) (B) 3 (£2)
(o) T (H) (D) TTT& (Gauss)
10. The S.I. unit of self-motivation 1s

(A) Weber (Wb) (B) Om (Q)
(ZYHenry (H) (D) Gauss

11. I I I ATk el ohl (Ed SHell H AT & hal STl &

(A) TEBTT (B) ST Ul

(CregrRETT (D) ferera Hiex

11. The device that converts mechanical energy into electrical energy-iscaiicd
(A) Transformer (B) Induction Horoscope

{Cy Dynamo (D) Electric motor

12. f<Erd &1 AEE 2

(A () (B) %I (mho)
(C) HTEAF) (D) TfEw (A)
12. The unit of reflex is

A5 0m (Q) (B) Mho (mho)
(C) Farad (F) (D) Ampere (A)
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13. 3T G S forvaTedt o sl ShelT=aL (I T ik 00 ST < |

(A) sin @ (B)cos O

(C) tan O (D) T8 ¥ IS T2

13. If the time difference between current and potential is (P, then there is a power
factor.

(A) Sin P (Bj cos )

(C) tan @ (D) None of these

14, Jearerd! arrafaer § weh UHieT 1 U35 A /2| aiaer # ey ot 31fereran A (e

q) 2
(A) 5A (B) 10 A
(5512 (D) 5\2A

14. The reading of one ammeter in the alternating current circuit is SA. The
maximum value (peak value) of current in a circuit is

(A) SA (B) 10 A

A0A (D) 5\2A

15. TomRra =rerehier a8 o Heor o fomm et 2

(A) B (Vector) % TR (B) E (Vector) % T

(C) Bx E (Vector) % UM (D)E x B (Vector) & UM
15. The direction of transmission of an electromagnetic wave is
(A) Parallel to B (Vector) (B) Parallel to E (Vector)

(C) B x E (Vector) Parallel to (D) E x B (Vector)
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16. TR ToRToTt o 707 S €, S

(A) 0- forToTt % (B) 3- fertti &6
() Y- ToRTOTT R (D) heite foront &
16. The properties of X rays are the same as

(A) A rays (B) B rays

(C)Y rays (D) Cathode rays

17. Ueh A ¥ shi I H GelTd I I 81 S &

(A) T AETH (B) SATET ATETY

(CY/AH TTERT 9T (D) SIT&T IR

17. This happens when a concave lens is immersed in water
(A) Less convergent (B) More convergent

(C)Aess offspring but (D) More deflection

18. Toh T GEHER( ¥ ST 377 difsiel BT &
(LAY FTeatTeh TR Hiey TV [B) Ficdi-ah 31 I
(C) ardfoeh SR AET (D) Arfaes 37 3

18. A simple microscope is a reflection made up of

(A) Imaginary and Straight (B) Imaginary and Inverse
(C) Real and straight (D) Real and reverse
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19. TehTRT shl SIE qUT Fehfel U1 AT 2

(A) STfdaRToT (B) WrEd

(g (D) Foi-ferergor

19. Transverse wave nature of light confirms

(A) Interference (B) Reflection
(Z)Polarization (D) Character deflection

20. Trafa o wehrer i qlraed 6400 A 21 STeT T TYHI § af Stet H 36 Jh13T &l
T BRI

(A) 1600 A (B)14800 A

(C) 6400 A (D) 8532 A

20. The wavelength of light in vacuum is 6400 A. If the péfractive index of water is
there, then the wavelength of this light in water will be

(A) 1600 A (By 4800 A

(C) 6400 A (D) 8532 A

21. SAFHAE (ev) HTIAT &

(A) 3T (B) foraiax
(C) g1 ) St
21. Electronvolts (ev) measure

(A) Charge (B) Voltage
(C) Section (I?) Energy
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22. BTSN W T Shi=-HT J0fl g9 YT H et 27

(A) ATZE 2oft (B STHT oY

(C) T 2oty (D) stk oft

22. Which category of hydrogen spectrum falls in the visible part?

(A) Lyman Category{3) Balmer Range
(C) Western Category (D) Bracket Category

23. BTSSIS WA <hl ToH Hafl H Soiag i shi =TeT FI FehIRT shl =TeT shT AT BIdT &
(A) 12 (R51/137
(C) 2/137 (D) 1/237

23. The first orbit of a hydrogen atom is the'tatio of the speed-efthe electron to the

speed of light.
(A) 172 2) 1/137
(C) 2/137 (D) 1/237

24, FHfAREd 5 9 9 01 781 872

(A) =gH (B) T

(Cy o0 (D) FoH

24. Which of the following is not a parent particle?
(A) Neutrons (B) Protons

2y U-particle (D) Electrons
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25. G it FHwit hT HHOT B

(A) T fadeT B) TR Tt
(C) T 2T ST (D) T4 hig e
25. The sun's energy is the cause

(A) Nuclear fission (By'Nuclear fusion

(C) Burning of gases (D) None of these

26. Tfg ZifoReet o &y f=rdies o qerm 3 2

(A) af =1 BB >1, o<l
©o=p (D) P<1,0>1
26. If the current coriStant of the transistor is O and B,
(A) ap =1 (B7P>1, o<l
©o=p D) B<1,0>1

27. NOR 72 % feTU e isieh &

(A) A.B (Recurring) =Y (B) A+t B=Y
(CO)AB=Y £25°A+ B (Recurring) =Y
27. NOR is the Boolean expression for gate.

(A) A.B (Recurring) =Y (B) A+ B=Y
(CO)AB=Y (D) A+ B (Recurring) =Y
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28. JeRTTRTeh i o1 férgia 2

(A) faad= (B) safderor

(€) 90T SR W (D) 3T

28. The principle of optical fibrgz

(A) Diffraction (B) Interference
() Complete internal reflection (D) Refraction

29. + g ¥ e 31 Seiag 1 oh st A7 SITeTl sl §HTITd 8laT € |

(A)rh (B)r’ &

(1 h D)r' %

29. The force between two electrons separated by a distance of r is proportional.
(At (B) 1’

(*Fa D) r’

30. forerd werehe ot foeftr g BT e

(A) [ML’T (B) IML’T”T'""]
(C) [ML*T"1] (D) [ML’T”1]
30. Electric flux has a dimensional formula
(A) [ML*TT] (B) [ML’T°T"]
(C) [ML’T"1"] (D) [ML’T™1]
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31. Uehich 3ATIRT ohl GHIGTHE T T8 T x HieT o ST ¥ Toham Tam &l BT &

(A)x] (B)1/x ]

(C) 3 (D) x°J

31. The unit is the work done in moving the charge to the equitable surface x
meters.

(A) x] (B)1/x ]

(€) Zero (D) x°J

32. TR Gieret MR =Teteh o $17aX foargd disrar aidl &

(A)O /€, B)€g,0

(IR (D)g,/ 0

32. There is an electrical intensity inside a charged hollow spherical conductor
(A)o /g, B)g,0

(Cy Zero D)eg,/o

33. 9 T S Ueh UF HT9T SIALA

(AyATeHIT | (B) forvrammdt &

(C) Tafrer & (D) e e &

33. E-1F of the cell is measured.

(A) From voltmeter (B) from voltage meter
(C) Ammeter to (D) Voltameter
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34, TertaTes a1 e fore forer 3T o Tverwr fogrea 9 Heifera © 2

(A) GaTT (B) Sl

Ly STmasT (D) Uit Ga

34. Kirchhoff's law of law is related to the conservation principle of which zodiac
sign?

(A) Momentum (B) Energy

() Charge (D) Angular momentum

35. AT Al (ev) H A ST &

(A) favraiax (B) AT

(C) St (D) &1

35. Electrons are measured in volts (ev)

(A) Voltage (B) Charge

2y Energy (D) Current
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Answer

1. fereefter &t =1 HETen ©
(A) A H' (B) e /T
(C) At #I (D) S/ At

Answer:- (B)

2. <t G, S Sielen oAl 9Tt C 2, SI0fishH H S[8 €] 37eh! qod eiar @ :-
(A) 3C (B) 3/C
(C) C/3(D) 1/3C

Answer:- (C)

3. e & fe W, 3UF wenfel X e € —
(A) 5 UC(B) 10 uC
(C) 3UC(D) 6 UC

Answer:- (B)

4. FfE 10 WTSSHI-5UE (UF) GTRAT ITel HETTE ol 5 Fiee (V) Teh AT fohal SITe, ar
39 T TS BII-
(A) 50 C (B)5x10°C
(C)5x10°C (D) 2C
Answer:- (C)

5. EICEH fsisl & HTaT ST § —
(A) == Ufatre(B) fet gferer
(C) == o fr= wfarer

(D) faraiax

Answer:- (C)
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6. 1  SfcrTer aITet Teh WHEY AR i AT SIS IS H hiZehd Ire THIAEHA H SIS faa
ST Y EART 3BT Eege ki grm

(A) 4 Q

(B) 12

(C)1/4 €

(D) 1/16 2

Answer:- (D)

7. TFFhIT &1 o FAH T S.1. $HTS Bldl @
(A) T8

(B) &l

(C) FT

(D) STA-HHUS

Answer:- (C)

. Tehefl <fel, Tl errrerTel R § Srarnfed fergg- ey = &vft, 3fe A & 10cm i gt o
3ca SeTh T &1 2mT &1

(A) 500 A

(B) 1000A

(C) 250 A

(D) 2000 A

Answer:- (B)

9. STH | I SFT[ralehl TaTef &
(A) 3T (B) 5
(C) 1 (D) STk &+ft

Answer:- (A)
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10. SISehedl T S.1. HIEh &
(A) Fs (Wb)
(B) &1 (L)
(C) & (H)
(D) 79 (Gauss)
Answer:- (C)

11. % 3 1 A1k STt 6T forera st & Iqera & el ST 8
(A) ZHEBHY(B) ST FHUSA

(C) ST
(D) feregra Arex

Answer:- (C)

12. SfcETe =T |T=TF 2
(A) 3 (Q)

(B) ¥&T (mho)

(C) %TE (F)

(D) TFRR (A)

Answer:- (A)

13. Afe grr SR forvam=at o off < shere=at ¢ &1t 3Tk Torieh e 2 |
(A) sin @
(B) cos @

(C) tan @
(D) 30 © IS Tt

Answer:- (B)
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14. eI RTART H Teh UHIST T U SA Bl THa H € 31 31fershad 71 (RTe
q) §

(A) 5A

(B) 10 A

(C) 52A

(D) 5”\2A

Answer:- (C)

15. Tomra Srerehier O o Heror ot fomm it @
(A) B (Vector) % THIHR

(B) E (Vector) % UM

(C) Bx E (Vector) &% UM

(D) E x B (Vector) & UM

Answer:- (D)

16. T Toront 3 o1 39 & €, S
(A) 0~ TRt &
(B) B- fertort <5
(C) Y- fereori =
(D) Fere fortutt &
Answer:- (C)
17. T ST i T THT H ST WX I8 &1 ST &
(A) T ANFETH
(B) SATET ATERT
(C) hH ITUH 9T
(D) SIT&T IR

Answer:- (C)
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18. T B GEHER(T § ST goTT Wfdfeiel gt &
(A) TR S Hien
(B) Tedfah 3TN 3w
(C) arfereh T diem

(D) i 3TN Iec

Answer:- (A)

19. STehTRT shT STIE qUT Jehfcr I a1 o
(A) SIfaRToT

(B) WrEd

(C) gau

(D) Fui-feremor

Answer:- (C)

20. FHald o Jemer i TR 6400 A Bl ST BT TSI & Al Siet H 39 Jeh1eT sl
Faresy gnft
(A) 1600 A
(B) 4800 A
(C) 6400 A
(D) 8532 A

Answer:- (B)

21. SHFRHAIEE (ev) HTIAT &
(A) AT

(B) forvaria

(C) uma

(D) Srsit

Answer:- (D)
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22. TTESISH T 6T Shi=-HT S0fl g9 9T 7 et 27
(A) STEAT JofY

(B) SR 2oft

(C) uTe Soft

(D) stohe 2oft

Answer:- (B)

23. BTSSISIH TTHTU <l TorH hedl H eAerg = ohl =ITeT FHI FohTRT i <A ohl STUTA Bl &
(A) 172

(B) 1/137

(C) 2/137

(D) 1/237

Answer:- (B)

24. Frafafaa & # g o 78 82
(A) A
(B) U
(C) a-ehur

(D) SaH

Answer:- (C)

25. G4 1 et b1 AT &
(A) TR fore

(B) TR Tt

(C) T T STAT

(D) 379 g T2

Answer:- (B)
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26. Afs gifsreet o o feraies oL qem B2 T,
(A) af =1
B) B>1,a<1
©o=p
(D) B<1,0>1
Answer:- (B)

27. NOR T2 & feTU fcf s2sieh &
(A) A.B (Recurring) =Y

(B) A+B=Y

(CO)AB=Y

(D) A+ B (Recurring) =Y

Answer:- (D)

28. SRTIRTE < T a2
(A) faada

(B) SATCRLIT

(C) 9ot ST Terera

(D) 39

Answer:- (C)

29. 1 30 | forenT 3T geragrHT o sfer AT STt et SHTT BT e |
(a) roh
(b)r’ &
(©) r°oh
dr'®
Answer:- (C)
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30. ferera werehe a1 forefier & ST @
(a) [ML*T"T"]
(b) [ML’TT"]
(c) [ML*T"T"]
(d) [ML’T”1]
Answer:- (B)

31. Uehieh TSR hl GRS &g W x Hiet o ST § foham mam o6 grar &
(a) xj

b)1/x

(c) A

(d) x°J

Answer:- (C)

32. AR GiEe! Mol =Tete o 3TaX forerd dierar aidt &
@) G /¢,

(b) €,6

(c) A

d) &,/ o

Answer:- (C)

33. YA TS Ueh UH HTIT AT S
(a) AecHIET &

(b) fervremTdt @

(c) Ut ¥

(d) AeeHiT o

Answer:- (D)
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34, for=iTe =t e fam fore Tfsr & weqor fargra @ weifa 2 2
(a) HarTT

(b) Tt

OEIEL

(d) IoftT o

Answer:- (C)

35. SAFM e (ev) H HIT ST &
OAELEIS

OEIEE

(c) Sif

(d) &

Answer:- (C)
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